RIS P}
HE: UK AHEERA (&Y
S ATHMUUEX Y ¥ E5

- SAILLOEX /O X R AR L)

. 4
SN FH-S(BH) - MRAY - B Ol &k o8 e 2

Ofl LA X1 2 145,990,856 124,922,181 21,068,675
= 92,336,800
s 6,000,000
| 5,255,555
= 42,398,501

HUX MHsH(AY - SAIS L0 H X0l X2 XHR K 82,962,770 70,695,258 12,267,512

@)

= 58,136,800
Fas 6,000,000
| 1,762,355
= 17,063,615

ATHEN UK W 2 25 6,993,300 6,943,058 50,242
= 120,000
| 1,762,355
= 5,110,945

OHXIEZ =& 4,500 5,000 A 500

202 04l 4,500 5,000 A 500

01 =LA 8l 4,500 5,000 A 500
ONLXEY fREX 4,500

AT X EAIZ 22l =2 53,000 57,000 A 4,000

201 Lt | 53,000 57,000 A 4,000

01 At 22l bl 25,000 27,000 A 2,000
OMTHAMNH X HAIZ 24 25,000

02 2222l 28,000 30,000 A 2,000
OATHM UK EA 2 2323 28,000

ATHAMOH X AlA 2tel 869,000 807,000 62,000

201 L2yl 840,000 777,000 63,000

01 At 22l 30,000 27,000 3,000
OATHMO UK 2SI 29 30,000

02 2222l 810,000 750,000 60,000
OAMTHAENUHX LHHX SS23 40,000
OATHM O LA Xl XX otd & 70,000
OAMTHAENHX X At FX222H 660,000
OMTHMO A AR I HHE=> 40,000

202 O4dl 9,000 10,000 A 1,000

01 =LA Bl 9,000 10,000 A 1,000
OAMTHMU HX HRF=A 9,000

401 AIEHIZ 201 8] 20,000 20,000 0

01 A& Hl 20,000 20,000 0
OATHAE0 X LA AlE 22 20,000

ATHMHHX XSXA(22) 840,955 570,070 270,885
| 840,955
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RIS P}
HE: UX AEEH(AY - SAINLLUHEX/HHKL ML)

S ATHMUUEX Y ¥ E5 (et
% 5 15|
SN Y- SAEA) - MRAY - BES 01l &k o i 52
403 XM S0l & 840,955 570,070 270,885
J| 840,955
01 X EMAEE X 840,955 570,070 270,885
OEHLZFLHAIE &3 840,955
J| 840,955
NANUHKESY AIEEZAE(22D) 120,000 769,000 A 649,000
= 120,000
403 XM S0l H 120,000 769,000 A 649,000
= 120,000
01 RXIEHA2E = 120,000 769,000 A 649,000
OXSNUHKIZE AIEEZ ALY 120,000
= 120,000
FHAANS WX SXASE(=12) 1,054,800 1,057,720 22,920
J| 921,400
= 133,400
403 XSS K201 & 1,054,800 1,057,720 22,920
J| 921,400
= 133,400
01 XM= xR 1,054,800 1,057,720 22,920
OMASE & AMI=XAE LEDS WA 1,054,800
J| 921,400
= 133,400
ATHAM X FEX AL (2T H) 1,202,304 1,014,720 187,584
403 XM S0l & 1,202,304 1,014,720 187,584
01 XA =L = 1,202,304 1,014,720 187,584
O &I TH A0l L4 Xl ==& X & At 1,202,304
ATHEA UK E=S8XAAS (IINEEHR) 1,648,741 1,432,548 216,193
403 X SHH S0l H 1,648,741 1,432,548 216,193
01 HXESHA2E = 1,648,741 1,432,548 216,193
OLTHHO UL X =& X2 A 1,648,741
EHEHDIE A SELMAT 4 2HHAMY 1,200,000 0 1,200,000
502 Xt =2 1,200,000 0 1,200,000
01 &X3 1,200,000 0 1,200,000
OEfMItE & SHLHEX =d 28HAIS 1,200,000
ORI R 2el 7,121,000 6,319,000 802,000
= 1,090,000
s 6,000,000
& 31,000
SOHE OS2 PG AEMEHEI ESA(=1) 1,000,000 300,000 700,000
= 1,000,000
403 XSS X201 ™ 1,000,000 300,000 700,000
= 1,000,000
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A

X ZH -
S =

Ol L4 X1 2

CHe] (e &
SN EB .S (SH) - NBAY - B O &k 2 b HZE2
01 MRS A28 & 1,000,000 300,000 700,000
Os0H=E OIS LPG AENHEHYT AL 1,000,000
= 1,000,000
228 HUX == - 22 =4 4,000 5,000 A 1,000
202 (4 H] 4,000 5,000 A 1,000
01 2l 4,000 5,000 A 1,000
OFE& X 2e g2x=X 4,000
LPGEI| AIE2It32 AIEHAAIS (Z1) 117,000 0 117,000
= 90,000
== 27,000
403 XX S ™M S X201 A 117,000 0 117,000
= 90,000
== 27,000
01 AEXISH MR =28 X 117,000 0 117,000
OLPGEI| AFSIt7 AMEIMSEAMS 117,000
= 90,000
c 27,000
HAXE MEI|IBH(LPG) XAA(=2D) 6,000,000 0 6,000,000
g 6,000,000
403 XX SHHS K201 ™ 6,000,000 0 6,000,000
hag 6,000,000
01 AIXISHHMA2E X 6,000,000 0 6,000,000
OBAXN A ME)|BHLPG) XM ALY 6,000,000
g 6,000,000
MeATNSKH 23 68,848,470 57,433,200 11,415,270
= 56,926,800
== 11,921,670
HII0IEX B2 XN (=21D) 676,620 756,000 NT79,380
= 483,300
== 193,320
403 XX S M S K201 A 676,620 756,000 ANT79,380
= 483,300
== 193,320
01 AIXISHHMA2E X 676,620 756,000 NT79,380
O&I|I0IEXN B2 NE 676,620
= 483,300
== 193,320
HHAIARIE 2H XS (=212) 157,950 0 157,950
= 121,500
== 36,450
403 XX SHHS X201 157,950 0 157,950
= 121,500
== 36,450
01 AIXISHHM A 22 X 157,950 0 157,950
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2M: ol X
HE: UK ALdSH (AL - SAIALNHHX/0UHX LR
ool ABINST 23 EER-E
5 4 14
SA-EY S () - NEAY - B Ofl &F 0 agﬁ RS2
OFAINAXE RUHl XS 157,950
= 121,500
== 36,450
HMAJIAXIS HA2H XR(=21D) 273,000 286,000 A 13,000
= 210,000
c 63,000
403 XX SHHS K201 ™ 273,000 286,000 A 13,000
= 210,000
c 63,000
01 AIXSMA=E2E X 273,000 286,000 A 13,000
HAINAXY HA=ZH XA 273,000
= 210,000
= 63,000
MIIXS A R0 N (=22D) 67,685,900 56,360,200 11,325,700
= 56,072,000
= 11,613,900
403 IXSHHS K201 H 67,334,300 56,360,200 10,974,100
= 55,784,000
= 11,550,300
01 AIXSHIEEE 67,334,300 56,360,200 10,974,100
OF™IIKN=EA F0 X 67,334,300
= 55,784,000
c 11,550,300
405 XFHAHF S HI 351,600 0 351,600
= 288,000
= 63,600
01 A&t 2 2 F S| 351,600 0 351,600
OF™IIXASX F0f XN 351,600
= 288,000
= 63,600
MEtATNSK 22 =X 3,000 5,000 A 2,000
202 04| 3,000 5,000 A 2,000
01 2l 3,000 5,000 A 2,000
ORBAHANEX B2 gR2FX 3,000
HII22D| 20 N (=21D) 52,000 26,000 26,000
= 40,000
= 12,000
403 XX SHHS K201 52,000 26,000 26,000
= 40,000
= 12,000
01 XIXISH A28 X 52,000 26,000 26,000
OFII=2ZD| FROHX& 52,000
= 40,000
== 12,000
JSHSIHE =8 (A /sA 25Ut 6,657,881 2,272,000 4,385,881
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. 4
SN EAEA) - MEAY - BES 0l &k o e SmEET
Jl 3,493,200
= 3,164,681
Jl=ds the =& 6,309,481 1,891,000 4,418,481
J| 3,224,800
< 3,084,681
st=JI= 823 K& 1,214,014 976,000 238,014
306 £ = 1,214,014 976,000 238,014
01 &3 1,214,014 976,000 238,014
Ost=JI=8sEFRH 2F K& 1,214,014
Jl=dstie 88 =& 4,000 5,000 A 1,000
202 04l 4,000 5,000 A 1,000
01 =LA 8l 4,000 5,000 21,000
OJl=Hati® HRFA 4,000
BAJIZANLE ESAFE T2 (31) 1,084,800 730,000 354,800
J| 1,084,800
403 XSS AH201H 1,084,800 730,000 354,800
J| 1,084,800
01 XX EX A2 E = 1,084,800 730,000 354,800
OEIZAE B2 2HAIE & 1,084,800
J| 1,084,800
JIZHs FHAHNS XNFAS(=22) 160,000 0 160,000
J| 160,000
403 XSS X201 ™ 160,000 0 160,000
J| 160,000
01 AXIEMAEEX 160,000 0 160,000
OJI=Ha HAAHNE KNI AY 160,000
J| 160,000
JIZEBst S sSgdH HE(=21) 2,666,667 0 2,666,667
J| 1,600,000
= 1,066,667
403 XM S0l & 2,666,667 0 2,666,667
J| 1,600,000
< 1,066,667
02 S 2S0CHEt A =X 2 & AL I 2,666,667 0 2,666,667
OJl=H3 s Sgdy A8 2,666,667
J| 1,600,000
= 1,066,667
Jl=Hst e SHH HE X0 700,000 0 700,000
401 A& HI Y 201 8] 700,000 0 700,000
01 A& HI 700,000 0 700,000
OJI=Hs S SEdH A8 20 700,000
JI=XXH JIzHs HEeHE =8 XNE(22) 280,000 0 280,000
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M0l X 2

Ha: J|SHSM X (HY/HTBSU)
Sl JISHE S =X CEREE]
M -Z3H-4A(3A) - NREAY - BES Ofl &F o ﬁlgi Hws2

o 780,000

403 KX SRS X201 & 280,000 0 280,000
| 280,000

R LR EEES 280,000 0 280,000
OJNEXTH JI2Ss HSHE 22 K& 280,000
| 280,000

SAZY NYME 29 N (21) 200,000 0 200,000
| 100,000
= 100,000

308 XHXI € H S 01 H 200,000 0 200,000
| 100,000
= 100,000

11 2O 2SOIHE S & XA b 200,000 0 200,000
OBAZEY NFME 29 K& 200,000
| 100,000
= 100,000

NSNS 2 RVAHKY 348,400 381,000 £32,600
Il 268,400
= 80,000

EAZOEN 2L(=21) 85,000 114,000 A 29,000
| 85,000

308 XX M S0I 85,000 114,000 229,000
| 85,000

IR ENEREES 85,000 114,000 229,000
OBAHQAEN 29 85,000
| 85,000

NEX SLAEAEH 2Y(2D) 3,400 7,000 A3,600
| 3,400

308 XX S S0/ ™ 3,400 7,000 A3,600
| 3,400

01 HXSHBLRES 3,400 7,000 A3,600
ONEX SBATAET 29 3,400
| 3,400

JSHANSHE 29 XY (2D) 90,000 90,000 0
| 45,000
= 45,000

307 £12H0| & 90,000 90,000 0
| 45,000
= 45,000

02 BABYANAEE 90,000 90,000 0
0JIFHSNSUEH 2 N 90,000
| 45,000
= 45,000

HIAES AR 2adtA NE8E N/(2D) 70,000 70,000 0
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M0l X 2

Ha: J|SHSM X (HY/HTBS AL
Sl JSHHES U RUMHNY CEREE]
2N -3 - (3H) - NHEAMY - BE= Ofl &F o ﬁlgi Hws2
pl 35,000
= 35,000
307 212+0| & 70,000 70,000 0
p] 35,000
= 35,000
02 1A LA BT 70,000 70,000 0
0ZY JSHAUEHYD S X 70,000
ol 35,000
= 35,000
HIAYRR ARE 2AJtA MGASE I EX XA 100,000 100,000 0
2s N (2D)
p] 100,000
308 XX S S0l ™ 100,000 100,000 0
ol 100,000
01 HXSHILERD 100,000 100,000 0
OJNEXNH HEE 2E X2 100,000
bl 100,000
WIUX A& SH (MY - ZLINALUEX /LHTE - 49,799,300 44,632,000 5, 167,300
T3
2 34,200,000
= 15,599,300
AACE 22489 54 49,725,300 44,458,000 5,267,300
2 34,200,000
= 15,525,300
FATHL X AMH(=1D) 1,350,000 1,275,000 75,000
2 1,350,000
403 THXISHH S T2 0| H 1,350,000 1,275,000 75,000
2 1,350,000
01 XS 22 = 1,350,000 1,275,000 75,000
O425HL THUS XL 1,350,000
2 1,350,000
LA4Y BY 5,000 5,000 0
202 01t 5,000 5,000 0
01 = Lh 0T bl 5,000 5,000 0
0424 S5 YL 5,000
LAFINNER 23 A (2D) 40,312,800 36, 170,000 4,142,800
2 32,850,000
= 7,462,800
403 XIS H S T2 0| ™ 40,312,800 36, 170,000 4,142,800
2 32,850,000
= 7,462,800
01 XX SHUI T =22 = 40,312,800 36, 170,000 4,142,800
O+2FIINSR PYX S 40,312,800
2 32,850,000
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A ol Xt
FE: UX A SH(0Y - SAIHLHNEHR/MHEE - DESF)
Col: YATEH 24N S4 (ool @
. 4
SN EAEA) - MEAY - BES 0l &k o e SmEET
| = 7. 462,500
WA RANRSETR ALY FE(SHEEXE) 6,590,000 6,008,000 582,000
308 XFXIEHHI SOl & 6,590,000 6,008,000 582,000
1M 3I2SoUe38aEE A 6,590,000 6,008,000 582,000
OMst =AY RHASET ALY =& 6,590,000
F=AEEINY SEXNE AEAY 50,000 0 50,000
308 XXM SO0l 50,000 0 50,000
11 3I2SoteE&EAE A 50,000 0 50,000
Ox=AEEINY SHXNE AMEAS 50,000
Hetel A2 ATHIIEE A0 UK 2848 XA (S0t 1,417,500 0 1,417,500
HEXIA)
308 XAXISHM SO0l & 1,417,500 0 1,417,500
1M SI2SoteE&EAE A 1,417,500 0 1,417,500
OAMctY A ATHIIE =20UX &SR
& 1,417,500
Ol A XIICT Jlgr= A 74,000 174,000 100,000
HUX Z2%HH MEFA 4,000 4,000 0
202 O4dl 4,000 4,000 0
01 SO I 4,000 4,000 0
OWUX ZE2450 H2FA 4,000
SESHAHIIE ZEHAANUERXN =X £H 2 2 70,000 70,000 0
A& (2IHEEXNE)
308 AUXIEHSOIA 70,000 70,000 0
11 3/ 2S0IHetE & X 2 E AL S I 70,000 70,000 0
OHESHAHHIIEH SAAUU X =X EH
2 29)= 70,000
HHSHZY (0l X)) (IIEHIIEL) 165,905 157,923 7,982
ol 2| 118,721 114,306 4,415
AN UK EAIZ 2 118,721 114,306 4,415
101 @124l 118,721 114,306 4,415
03 SR (RIAY) 22U E > 118,721 114,306 4,415
OATHMO HXIEAI 2 ZRE Q12| 118,721
OJlzs 78,958
-85 & 2,133,550 123 25,603
-9~108 &=
(2,174, 7703 62 )+(2,214, 1702 6 & ) 26,334
-Ns= 2,251, 7403 123 27,021
ogdz2=¢ 4,857
-85 8
(2,133,550 +20%)+(2, 133,550 & *25%) 961
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M0l X 2

XM ZH: SHAN
oS =

crel: olete oyl (el @@
SN BB (SH) - NEAY - BES O b ggﬁ HRs2
-9~108 =
(2,174,770& %40%)+(2,214, 1702 *40%) 1,756
-3
(2,251,740& %45%)+(2,251, 7402 *50%) 2,140
OeRR3EINLY 3,540
-85 & 93,9102 12 1,127
-9~108 = 98,780& 12 1,186
-1 & 102,200 12 1,227
SNEEEEP
36,8503 x150%*20 Al 2+ *x 123 13,266
OFEF Ity 6,580,000& x50%*23l 6,580
O=4| 140,000& »3H 128 5,040
[@FnE=):] 100,000 »3H »12& 3,600
Oons=< 80,000 x3YH x12& 2,880
Jl2 &3l 47,184 43,617 3,567
FHAEE JI2ZHl 47,184 43,617 3,567
201 Lt | 33,492 30,951 2,541
01 At 22l 33,492 30,951 2,541
ORAM2E MRl 33,492
202 O4dl 8,892 7,866 1,026
01 =LHA Bl 8,892 7,866 1,026
oRHE2Y U0t 8,892
203 B R =&l 4,800 4,800 0
04 EA2E SR8 4,800 4,800 0
©302! Ol at 400,000& x12& 4,800
HRES(HUX D) (A - SADLL0HX/0lE XX 6,405,000 7,165,000 A760,000
M)
HEHHX & 6,405,000 7,165,000 A760,000
NAXHAELN SE3H 29 6,405,000 7,165,000 A760,000
701 JIEtSIHENES 6,405,000 7,165,000 A760,000
01 JIEtSI AN ES 6,405,000 7,165,000 A760,000
OXNATAA LN SLHIH 2 6,405,000
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20228 = 204& XSG HANELMELES A A

RIS P}
A UX MM - SA0Y
el AMAUX WY 2 2E2(XY

QoK /0l KT XHRONE)

RN S NS 3 H) (ctel: @
SH - GA(BH) - NRAY - BES 01l &k 24 e Bl RS2
ofl U1 XI 2+ 5,327,000 6,834,500 A1,507,500
o1|)u A S (Ae) - S2012 0L X /0l L4 Xl % X f 1,771,448 1,799,500 128,052
Ey
MM JHY 2 2S(NATBAILHSESIH) 14,700 18,000 £3,300
MUX2E DS B2 #A =& 14,700 18,000 £3,300
201 Y2 Y| 14,700 18,000 3,300
01 A2 22l | 14,700 18,000 £3,300
ONUXTE NS, 22, #A =X 14,700
Ol LI Xl Kb 2rel (XIS K2 Al S IS 23l ) 1,756,748 1,631,500 125,248
HASS DY IR HAAHAIL(EOIHE) 22 = 25,200 25,200 0
by
403 XX A S X2 0| & 25,200 25,200 0
01 XEXIEHHI X2 2 = 25,200 25,200 0
OMASE 1 I JHAAL 23 25,200
SAIDA AQXS BSEXH XY 743,948 1,062,782 ~318,834
403 XHXI A S X2 0| & 743,948 1,062,782 ~318,834
01 XEXIEHAI X = 2 = 743,948 1,062,782 ~318,834
OZAIDA 29X IS XN 743,948
S0E LPGAE NS ISR X 900,000 450,000 450,000
403 IR SHH S K201 H 900,000 450,000 450,000
01 XEXISHAI X2 2 = 900,000 450,000 450,000
OSOE LPGASNEYI AILLRIH X 900,000
FOIAE HE X8 33,600 33,600 0
403 IR SHS K201 H 33,600 33,600 0
01 XEXIEHAI R = 2 = 33,600 33,600 0
ONASSE =SHIIANE K 33,600
SAItA B3HIS 4FES 2T 27,000 27,000 0
207 AN bl 27,000 27,000 0
01 &R 27,000 27,000 0
OZAIA Z3HE HFEY 27,000
SAJA AEEES 4F8Y £X 27,000 0 27,000
207 &R} 2t 27,000 0 27,000
01 | 27,000 0 27,000
OZAIA NEZ2EZ MEEY 27,000
IS XM (BH/BHBRZSYY) 127,000 0 127,000
JIEEs S ZA(NANALNSLEIH) 127,000 0 127,000
EABSAAY QX I A BEAY R 27,000 0 27,000
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M0l X 2

HE: ) SHSM 2X(HY/BLBSAY)
Sl JISEE S SR (NANRALNSEEH) (e @
SH-BH S (BAH) - HRAMY - BLS 01l &k o e SimE=E"
308 XHXI A S 0| & 27,000 0 27,000
TEPEENEEE TN 27,000 0 27,000
OB AHERAMY & BIIY ASIBHALSR
x| 27,000
NREAS SAZY 1S 43 N AHAL 100,000 0 100,000
308 XFXIEHHI SOl E 100,000 0 100,000
TEEEELEEEFEEETE 100,000 0 100,000
ONMENY SHAZE S HSSHXRAEAM
= 100,000
WX AAE S84 - SAI LUK/ 514,000 835,000 A321,000
nie-
LACH 240 SY(NARBANLNSEEH) 390,000 626,000 236,000
SABTA L FAFBAL 22 X 390,000 466,000 A76,000
308 XHXI €A S 0| & 390,000 466,000 A76,000
01 HXSHILERD 100,000 0 100,000
O+4BEHL 294l X2 100,000
1 ZOIBSHHEE S A b 290,000 466,000 A 176,000
O+4EHAL 2% X 290,000
HUEXIICT JIgt=& (KSR ANLEMESEA) 124,000 209,000 85,000
WX A& S8 (XHH) 16,000 21,000 A5,000
201 gt | 16,000 21,000 A5,000
01 AR 22lH] 16,000 21,000 5,000
ONLX MY DS, B2 = 16,000
22Y HIINIS MY =& 108,000 108,000 0
308 XHXI €I S 01 ® 108,000 108,000 0
IEEEELEEEFEEETE 108,000 108,000 0
221y MINIE A =0H 108,000
xw%)%(wumm)(&@ =PI TERIIER -y, 2,850,000 4,200,000 A1,350,000
20N
WEHHNE (N ATAA L HSE S H) 2,850,000 4,200,000 A1,350,000
T 2,850,000 0 2,850,000
704 03 2,850,000 0 2,850,000
NEEE] 2,850,000 0 2,850,000
CIEE 2,850,000
Ol 1 81 (0l 81 81/ 01 8]) 64,552 0 64,552
Ol 61 6] (X1 94 X 24 Al &1 KIS 2 51 64,552 0 64,552
ol 81 64,552 0 64,552
801 04l bl bl 64,552 0 64,552
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RIS P}
Aol (oldigl/olgigl)
2 olglEH (RIS RRAENSE3A)

bal

SA - ZE - SR(3N) NEAY - B S Ol &k e
01 LBHalgl Yl 64,552
©oldltl 64,552
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